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AC-1350
(018) B.C.A. Part-III (Three)
Main Examination, 2023-24
Compulsory/Optional
Numerical Analysis

Paper I
Time : Three Hours | ' [Maxtmum Marks 100
[Minimum Passing Marks : 33
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X3-4x-9=0 |
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Explain the concept of Bisection method

to solve the root of the equations. Find
the root of the algebric equation x*-
4x-9=0, using the .’Bise;tion method
correct to three decimal places.
3727aT / OR
e fiftr & R RO xer=cos x
B gemer % IR W 7 B AR
Solve the eqluation xe*=cos X by Regula-
" Falsi method corr_é&f upto four decimal-
places. , ' |
SR/ Unit-II
2. ﬁlﬁqaﬁgﬁﬁ#(ﬂimmﬂmﬁ?‘d\aﬁﬁm
Use Jauss Jordan' elimination to solve t.hé
System""v- . o |
x+3y+2z=2

+7z=-1 ‘ R G
2x-}7y Z=7 L\,j\

2x+5y+22=7

Grad.
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Solve the following system of equations
by using matrix inversion method.
2x—y+32=9' X+y+z=6; x¥y+z='2
i 3351'{ III ) Umt-III : -
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Using Gauss's l;“-B,ac'kward formula,
estimate the nﬁnﬁbeerfbérson earning
wages befween, Rs’.( 60 to 70 from the

following data.
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Tl (e X | Tl Bl T f(x)
(83TR #)
Wages (Rs.) Number of Pérson f(x)
~(In Thousands)
below 40 250
40-60 120
- 60-80 100
| 80-100 7 70
100-120 - s
S7erall / OR ‘
f(x) o1 B B e < & Rarsee Rwvw
x40 7 43 6
f(x):|648 | 704 | 729 | 792
f(u) T3 F(u) 0 I 3R
AC-1350 - ( Continued) |




(5)
Use Newton's divided difference formula

to find f(x) given

X : 0 2 3 .0
792

f(x) :| 648 704 729

Find the f(u) and f(u).

SPR-IV / Unit-IV
[ T airgwm:rar\* Rrferfaa faftra

1+x

Evaluate the [1 C

f0llowmg rules

(a) a‘&aﬁ‘saﬁm

, Trapazoidal rule
(b") e & 1/3 fram
Simpson's 1/3rd 'rule
(c) Rt & 3/8 R

Simpson's 3/8th rule
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FrfeRaa gl ® e for|
Write a note on the following rules for
numerical iﬁtegratipn.
(a) Boole's rule .
<Ree LI & g1 31 P
(b) Weddle's rule’ i
AR $CIE & IseT @1
FO-V / Unit-V

. TR ﬁlﬁ'\q (Serles)jﬁlﬁl I I aﬂﬁ y'=x-

y? y(0)=1 % fore y(0. 1 maﬁ(mnaaés
mﬂé‘rmaﬁ) |
Using Taylor Serles method ﬁnd y(0.1)
for y'=x-y?, y(0)=1 (correct upto four
decimal\pléces')‘fr‘:*:f ey

312137/ OR
x=0 R IR Rl y = 1$m 32’( »}'_:‘X
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i dl _Y=X ] . e er:
Given 4= v with initial condition

y=1 at x=0, find y for x=0.1 by Euler's

method (take h=0v.02)
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